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RELE 5 XERASNTE@FA SRR A A, WwETT. Theif ARD =400mm, FiboHh
Dy =500mm, 4w BRSNS =012, THEMRAKK =12, LFMEQ =50000N, #is
A R Fd 5 A [0] = 100 MPa. X% 3T 3R a9 3340 A 12,

A lifting reel is connected to a large gear with 8 ordinary bolts as shown in the figure.

It 1s known that the diameter of the reel D = 400 mm, the bolt distribution circle Dy=
500 mm, the coefficient of friction between the joint surfaces f = 0.12, the reliability
coefficient K¢= 1.2, lifting cable tension Q = 50,000 N, and permissible tensile stress

of the bolt material [g] = 100 M Pa. try to design the bolt diameter of this bolt group.
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A screw tensioning device is shown in the figure, rotating the middle part can make
the two ends of the screw A and B move closer to the center, so as to tighten the two
parts being pulled. It is known that the threads of screws A and B are M16 (d; =
13.835 mm), single thread; their material allowable tensile stress [o] = 80 MPa; and
the coefficient of friction between the threaded pairs, f= 0.15. Calculate the maximum
torque, Ty,ax, allowed to be applied to the intermediate parts, and calculate the
efficiency of the screws during tightening. Calculate the maximum permissible torque
Thax on the intermediate part and calculate the efficiency of the screw during
tightening.

Parameters related to M16 thread : large d \

diameter d = 16 mm; medium diameter BT —h | e y _F

d, = 14.701 mm,; pitch p =2 mm; "/ .....
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In a belt conveyor drive system, it is known that the motor power P = 13.69 kW, n =
136.4 r/min, and that the diameter of the motor shaft and the diameter of the gearbox

input shaft are both 42 mm. Choose one type of coupling (fixed rigid coupling,
removable rigid coupling, flexible sleeve-column coupling, flexible pin coupling, tire-
type coupling) giving the appropriate justification and calculating the torque.

Working condition factor: K, = 1.5
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Deadline of this homework: Dec 05 @ 23:30

Link to submission;
https://ancorasir.com/?page 1d=3987

All homework MUST be hand-written.
No late submission is allowed!

Please refer to the above link for further details on how to
make the submission and the detailed deadline for submission. .i% i%N
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